H & 0l & AHS B Ml A

FA BHUSHEH
33 oMsd Jleryst
el BYuIUEHSE (SH9 H2)
SA - BB C9I(B) - NIRAY - BES ol ko o 8 o HIRS2
B NS 6,346,995 6,414,575 A\B7,580
= 24,000 24,000 0
LS 73,100 73,100 0
e 6,249,895 6,317,475 A\B7,580
M= Ity st 512,907 538,017 A25,110
= 24,000 24,000 0
< 32,600 32,600 0
i 456,307 481,417 225,110
BYUSHEHEY 512,907 538,017 ~25,110
= 24,000 24,000 0
= 32,600 32,600 0
= 456,307 481,417 A25,110
ol nEAY 131,290 156,400 A25,110
= 24,000 24,000 0
i 107,290 132,400 225,110
301 L2z 17,290 142,400 A25,110
= 21,000 21,000 0
z 9,290 121,400 A25,110
BIBHEd= 117,290 142,400 A25,110
odg Rl T BAE(ZHIFIH
38 65,290,0002 65,290 90,400 A25,110
BYSISHA 2= 204,470 246,940 AA2,470
ddsis =8 197,080 214,580 A17,500
21MI01 2Ot 188,180 205,680 A17,500
307 2IZto & 157,500 175,000 A17,500
05 QIZtRIE 3 157,500 175,000 A17,500
S21MI01 ZHO0IHID 2 (22t gl
) 48 157,500,000 157,500 175,000 A17,500
HEuUE 29 7,390 32,360 A24,970
HE2s MEUs 7,390 32,360 A24,970
201 LetEaY| 5,390 30,360 A24,970
01 At 2teltl 5,390 27,560 A22,170
ocHERs MEUE UM & 222 AH 2,000 18,000 16,000
- I ME 23 02 0 6,000 26,000
-8 cIE2H A 23 02 0 6,000 6,000
-38us 8288 M (28 3)
43 2,000,000 2,000 6,000 4,000
cHE2S HEuE 24 2,390 3,560 A1,170
m=Eol SN[ ENy 33 130,000&*33l 390 1,560 A1,170
cHEIS HEBUS BASE
& 1,000,000 1,000 6,000 5,000
2 ss=23Hl 0 2,800 2,800
cHEEe HEUT 82 0 2,800 2,800
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SA: BAMDSME
M ZAMSISH 7S
ool HENS 29

SN - BE - SRA(SIH) - NIRAY - BES 0 &t ol & o
-HEdH g3 28 0= 0 1,200
HHEE ¢S Z2& 03 0 1,600
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